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When several firms that pmd\wo similar gmnlmnnc up inone locality, they unm exte '
economies. Benefits of infrastructure, specialisation, marketing ete., are available huuil
the firms ll mm\!wl ol lmmlwnnwmu Iun..c |l m\cmu .c\lunul Lll%wumnmh .
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5.7 SUPPLY

Consumers demand goods and services to satisty their wants. To meet this demang of

consumers, producers have to supply the goods to the market. Supply of goods depend Wpoy |

several factors. Among these, price is an important factor in the supply of goods. Therefor,
supply is defined as the quantity of goods producers can supply at different prices during a pcri(-,(;
of time. While speaking about supply, two things- price and time period are considered. [y,
example, a farmer supplies 10 kgs of vegetables at Rs.20 per week. The total output produced by
the firm may not be supplied to the market. A part of it may be kept as a stock in the godown. |
the total output, the quantity offered for sale at a given price is called supply. Although priceisg
crucial factor in determining supply, there are other factors that affect the supply of goods.

To meet the demand of consumers in the market, producers supply goods Supply is the
quantity of goods offered for sale at different prices during a period of time.

5.7.1 Determinants of supply

Producers make decisions about supply depending upon several factors, which are known
as determinants of supply. The main factors that cause changes in supply are price of the goods,
input prices, technology, natural factors, government policy etc.,

1. Price of the Goods: Price of the goods is crucial to the producer in making a decision

about supply. It is the price that decides the profit of the firm. Producers supply more

goods as price goes up in the market to get higher profits.

2. Input prices: Production takes place with the help of inputs. A rise in input prices leads!
higher cost of production. Producers supply more, when input prices are low i.¢., at lowe!
cost of production. At higher input prices they supply less.

3. Technology: Changes in technology or methods of production affect supply. Technolog)
decides the inputs to be used, quality of the product. New technology generally helps P

save inputs and reduce costs and time to produce output. An improved technology enhanc® §

the supply of goods.

4. Natural factors: Supply of goods depends on favourable weather conditions. Condlt‘°“5 |

like drought, floods, extreme weather, pests and diseases disturb crop production and "
material supply. This will affect the supply of goods.

(




policy of taxes and subsidies on goods brings about
0ods discourage producers and their supply will be
vernment encourage producers to supply more.

ST Bl s
Producers make decisions . ey
(of‘:upply include o ons a0l Supp-]y depending upon several factors. The determinants |
: Price of'the good, Input prices, technology, weather etc.,

esong

less. On the other, subsidjes from go

5,7.2 Supply function

As mentioned above, producers decide th

relation between the supply and the factors that
equation known as supply function.

e supply of goods based on several factors. The
decide the supply is explained in the form of an

Sx=f(Px, P, T. W, Gp)
In the above equation:

Sx: Supply of good

Px:  Priceofx

PL: Prices of inputs

T Technology

W Weather conditions

Gp:  Government policy

In the equation supply is a dependent variable on many factors. Any change in orte of these
factors will bring about a change in the supply of goods. Of all these factors, price of the good is
considered to be an important factor.

Supply function describes the relation between the supply and the factors that decide tha
supply of a good. '

v

3.7.3 Law of supply

We have learned that supply of goods depend upon several factors. Among these, price is
the crucial factor for a producer. Like the demand, supp}y also depend§ on price of the good. ltis
the general tendency of the sellers to supply more quantities when the pnces‘. increase in the market.
Law of supply explains the relation between price apd supply of goods. T he. law of supply states
that, when other factors remain the same, the quantity supplied increases with arise in price and
decreases with a fall in price. Thus, the quantl'ty sup.p.hed by Producgr is dl.rectly proportional to the
price. The relation between price and supply is positive. Th¥s relation exists only when there is no
change in other factors. It assumes that thefe are no changes in technology, price of inputs, weather
etc.

b
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| The la}v 1sillustrated with the help of'su
prescnts.two kinds of information i.c.. alist of
those prices during a pe

pply schedule and supply curve, A supply schedule

rmatic prices and the quantities supplied by the producers a¢
riod. These are based on the imaginary data,

Supply schedule: 5.3 Y 4\
(Price of Quantities ) 5 -
oranges | supplied >
! 10 4 A
b 15 Price
3 4
3 20
2 -
4 25
\__J 30 ) - A S
0 | | I I | | >X
10 15 20 25 30 35
Quantity supplied
Fig.5.3

From the supply schedule 5.3, it can be observed that as price increases, quantities supplied.
by producers are directly proportional to the prices. Atlower prices, quantity supplied is less.
Price of the goods and quantity supplied have positive relation. Supply curve is constructed with
the information from supply schedule. Price is measured on Y-axis and quantities supplied on X-
axis. The shape of the supply curve is upward sloping. It shows that at a higher price more quantity
is supplied and at lower prices less quantity is supplied by the producers. Supply curve begins at
price Rs.1. It means, below this price the producers refuse to supply the goods. This minimum
price is called reserve price. Any change in price brings about a change in the quantity supplied.
Such changes take place along the supply curve. These movements along the curve are called
expansion and contraction.

Price is considered to be the crucial factor in deciding supply. The law of supply states
the relation between price and supply of goods. There is a positive relationship between

price and supply of goods. Hence supply curve is upward sloping.

Increase and Decrease in supply

Changes in supply due to changes in price dre explained with movements along a supply
curve. We know that sometimes supply may change due to change in other factors like technology,
input prices, weather etc. Such changes takes place ona new supply curve. [tis called increase of

F
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jecrease nsupply. Inthe figure 5 4 the

supply curves S8.8.S S'S. The new, surf:.are three

$,S, has resulted from change ip Othzflg curve | S, S S,
Though price remained at OP, there s . actor.s. / /

supply from OQt0 OQ,. Like wise, whep tha:ge- in P

decrease, supply would change from 0Q torg isa Price
ft means the change in supply s not duel to pr%é |

change but due to changes in other factors These Sz

changes are shown with different supply curves. An S S/

increase in supply moves the curve towards right. and L

adecrease in supply moves the curve towards left 0 Qz Q Q, .
Supply changes due to other factors are calleci Quantity supplied
increase and decrease in supply. Fig. 5.4

Changes in S\;pply due. to price takes place along the supply curve. This is called
ex.};ansmn and contraction in supply. Changes in supply due to other factors brings a
shift from one supply curve to other. This is called increase and decrease in supply.

5.8 Cost of Production

In the production function we have discussed the physical relation between inputs and
output. The physical inputs and output when expressed in money terms become costs and revenue
to the producer. Input prices paid to the factors of production is the cost, while output sold inthe
market gives the revenue. We now shift from theory of inputs and output to the theory of costs and
revenues. Costs and revenues aré crucial to make business decisions by the producer. Let us now

first look into the costs of production.

arious cost concepts such as money, real, opportunity cost. It also

This part explains the v . :
the output in different ime periods.

discusses how costs are related to
58.1 Types of Costs

Money Costs
ioni t. Cost of production depends on factors
nis always related to outpu fpro

A me costof pfodl:su?oduce sor}xlw output and the factor prices in the_ market. Money costs
of production necessary I;de to different factors of production. These include rents on land,
refer to money payment m ot sl £

: ital, pro et
wages to the labourers, n:’;er;izzn oS y costs t0 the producer may be explicit or implicit.
comprise money costs 10 e

The he factors  are called explicit costs. Some of the
he payments made to the 12

rrowed from other: : : .
f; oduction may not b:(})ured from outside. Hemay use his own factors in production.
_ factorsused in production
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2.1 Theory of Consumption

Introduction

Consumption is the basis for entire €conomic
activity. Satisfaction of wants t.)y thc? c‘:(?nsumer isthe | ,; Cardinal and Ordinal utility
beginning and end of all economic activities. In orderto
satisfy our wants one has to consume goods and services

2.2 Law of Diminishing Marginal

which possess utility. The power of acommodity to satisfy utility

human wants is generally considered as utility. The aim of I

this chapter is to understand the utility approaches and the 2.3 Law of Equimarginal utility -
Congumer’s equilibrium

consumer’s behaviour with the help of Law of diminishing
marginal utility and the law of equi-marginal utility.

Meaning of Utility
Utility is the basis of consumer’s demand for a commodity.

utility.

Th.e term utility is different from satisfaction. The consumer gets satisfaction only after the |
consumption ofa cqnmodﬁy, where as utility is the calculation of want satisfying power of a @
commoShty., Thusutility refers to the ‘expected satisfaction’ where as satisfaction means ‘realised

satisfaction.

Atthe same time utility has nothing to do with usefulness. A commodity may satisfy a

h « . .
wt;:a:fvavant but it mav31h nc:; be useful. For qa;nple,wme is dangerous for health. Yet it satisfies the |
drunkard. Whether the commodity is useful or not, if it satisfies a human want we can say |

that it posses utility.

wpmuggz )i(saz:n sulb;iectt,il\./e :oncept. It varies from person to person, from time to time and pl i
g ple a blind person cannot see the pi i Buttor |
Ao i n can picture. So it has no utility for hi '
others ty. Further the same individual may get different utilities from ﬂltgs:t:lehgmgllcl)tdf(t)yr "

at different times. For example,a warm suit has greater utility in winter than in summer
: er.

Geperally the want satisfyiqg capacity or power of a commodity or service is known as} |
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It fsh(z be l‘(li(?‘w that Ut}llty is different from satisfactionand utility is the power or capacity |
of acommodity or service to satisfy a particular want .J

Now let us try to understand the approaches to the utility analysis.

2.1 Cardinal and Ordinal Utility

There are two different approaches of utility to analyse the consumer’s behaviour.

(1. Cardinaluslity B. Ordinal uﬁu@

2.1.1 Cardinal Utility

Alfred Mar.shall followed Cardinal utility approach to explain the theory of consumer’s
behaviour. Accorfi}ng to this analysis we can measure utilities dervied from the consumption of
different commodities in terms of arbitrary units called ‘utils’. 1,2,3, 4 are called cardinal numbers.
Further a person can compare the utilities of different commodities. He can say that the utility he
gets from the consumnption of one unit of apple is double the utility he obtains from the consumption

of one unit of orange.

In simple terms cardinal utility analysis gives numerical expression to utility. The law of
diminishing marginal utility and the law of equimarginal utility are based on cardinal utility approach.

‘According to cardinal utility approach, itis possible to measure and compare utilitiej

derived from different commodities in numerical terms.

2.1.2 Ordinal Utility

Hicks, Allenand others have supported ordinal utility analysis while explaining the consumer’s
behaviour. According to this approach we cannot express utility in numbers precisely. The ordinal
numbers are ranked. It means the utilities obtained by the consumer from different goods can be
arranged in serial order such as 1%, 2%, 3" etc. These numbers only tell us that the second number

is bigger than the first number and so on. Ifyou take the example of a cup of teaand a cup of coffee

we can only say that a consumer prefers acup of tea to coffee but it is not possible to compare the

quantities of utilities obtained from these two commodities. Hence utility possesses only ordinal

ed in cardinal terms. The indifference curve analysis is based on

magnitude and cannot be express

ordinal utility approach.
Ordinal utility approach says that utility can not be measured in numerical terms. Itisa
subjective concept. '

In this lesson, the cardinal approach to utility is the basis for various laws.
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Unit - IV

Indifference Curves

1.0 Introduction

An alternative approach to Cardinal utility to
wnlain consumer s de di . 4.0 Introduction
explain CONS emand is put forward in the form
of Grdinﬁl utility. This is the combined effort of 4.1 Criticisim on cardinal utility
Edgeworth, lfxsher_. Pareto, Shutsky, Hicksand Allen. But |42  Ordinal utility
:heb tl\“;l 31811511 Ecm:xlr{usts JR HicksandR.GD.Allen | 4.3  Indifference Technique
published a paper, econstruction of the Theory of ;
Value™.in which they not o nly ref e inal usility 4.4  Properties of Indifference curves
approach but also proposed the Indifference curves 4.5 Budget or Price lin¢
approachbased on ordinal utility. Againin 1939 Hicks 4.6 Consumer Equilibrium with the
refined the indifference approach in his “Value and help of Indifference cirves
Capital™. 4.7 Model Questions

Indifference curve is a technique based on ordinal 4.8  Glossary

utility, an alternative approach to Marhsallian 4.9  References

Cardian Utility.

4.0.1 Recall

Before we go into the details of ordinal utility to explain the consumer’s demand, lets recall

the main assumptions on which the Marshallian cardinal utility approach was built.

The goods and services has the power to satisfy human wans. This is called ‘Utility’.
According to Marshall, utility derived from a good canbe measured quantitatively.
Utilities of different commodities are independent of one another.

The Marginal Utility of money remains constant even though the quantity of money with
the consumer is diminished by the successive purchases made by him.

4.1

went for in search of an alternative.

Criticism on Cardinal Utility

Before talking about the ordinal utility approach it is important to know, why the Economists
The Modern Economists pointed out the main drawbacks of

the cardinal approach to Demand theory on the following grounds. They are:

Ecoriomics Ist Year (EM)-4
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|. Theutility analysis assumes that utility is measurable in terms of *
to Hicks, it is not possible to measure utility, sinceitisa subjective factor.

L

The utility analysis assumes that the utilities of different commodities are independent of one
another. But, in reality, this is not so. The marginal utility ofa commodity depends ng;
merely on its own consumption, but also on the consumption of some other commoditieg,
This is so because the commodities may be complements or substitutes of one another,

Example: white paper, pen, refill and coffee and tea.

3. Further, utility analysis is based on the assumption of constancy of marginal utility of money,

Actually, the reduction in the quantity of money with the purchaser will increase the margina| |

utility of money.

4. Marshall explained the concept of constancy of marginal utility of money by taking ‘single
commodity’. But, in reality, the consumer will always try to satisfy his wants by purchasing
a host of commodities instead of a single commodity.

5. Themarginal utility analysis is restrictive in ts scope. It does not split the price effect intoits |

two components, the income and substitution effects. On the other hand, Hicks Allen’s
indifference curves are able to deduce amore general theorem of demand which covers the

‘Giffin’s Goods’.
In view of these short comings, the utility analysis has now been replaced by and large by
the in difference curves or ordinal utility approach.

4.2 Ordinal Utility

According to the concept of ordinal utility, the utilities derived from the consumption of
commodities cannot be measured, but can be compared. This means that the consumer prefers an
appleto an orange. Here, the consumer will not specify how much utility he will be deriving from
the consumption of an apple or an orange or both (combination ot apple and orange). He will
simply compare the satisfaction in the sense that whether one level of satisfaction is equal to, lower
th'a.n or higher than the other. So, the ordinal utility analysis mainly states the following aspects of

utility.
1. Utility cannot be measured cardinally.

2. It also states that the consumer compares the satisfaction levels from different
combinations of goods.

4.3 Indifference Technique

In view of the shortcomings in the cardinal utility analysis, modern economists have develope!

anew technique ca.ll.ed I‘ndiﬁ“erence Curve Technique based on the ordinal utility. This techniq®® ¢
mainly tells that ‘utility’ is not measurable. The consumer can compare the level of satisfaction from £

utils” or units. Butaccording |
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different (Eomblr{auons of gooqs, Every consumer will have
nerown. Therefore. the technique says that the ¢q

a definite ‘scale of preference’ of his/
consumer cannot go beyond his/her preference or

4.3.1 Assumptions

The indifference curve t el
echnique is based on the following assumptions.

{. Rational Consumer:

ﬂxe c;onsumer alwa)is acts ina prudent way so as to derive maximum satisfaction from the
use of his limited money at disposal.

3. Scale of Preference

Since ':ltili_ty iS- subjective, the evaluation is done by the consumer only. This means thata
consumer has in his mind a definite *Scale of Preference” which guides him in his purchases. This
‘Scale of Preference’ reflects the consumer’s temperament and tastes.

3. Ordinal Method:

In ordinal method, it is possible to compare the satisfactions obtained by various combinations
of goods in ordinal terms i.e, 1%, 2", 3", etc. One combination of goods may ordinally be ranked
higher than another in the consumer’s estimation.

4. Transitivity or Consistency

If a consumer regards A better than B and B better than C. Obviously the consumer
prefers C to A, if his choice reflects his rationality. Consumer’s choices have to be consistent.

5. Substitution

The consumer always wishes to have that combination which gives more goods. Example:
out of two combinations say X and Y,if Y’ give him mote than ‘X’ in a combination, he substitutes

YforX.
6. Two — Goods Model

Inreality, a consumer purchases many goods to satisfy his/her wants. But for the sake of
convenience and simplicity, it is assumed here that the consumer buys two goods only. Various
combinations of these two goods are taken for studying how the consumer reaches the point of

- equilibrium,

- 7.The consumer will have perfect knowledge about the prices of these two goods.

8.The tastes and habits of the consumer Will remain the same.

9.There will be no changes in the income of the consumer.
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4.3.2. Meaning of Indifference Curves
All desires of a consumer are not equally important and urgent. Because ot the limiyy 1
income at his disposal. the consumer i forced to “select’ the more important urgent-\\'mx.t_ Th
Indifference curves are drawn on the basis of his ‘Scale of Preference’. The stalc of preferen,
reflects his tastes and preferences. A consumer, in the real world would be purchasing many goog g
to satisfy his wants. But, here weare restricting to two goods only. Therefore, an m.dxﬂem.lce :
curve re;rwmts satisfaction of a consumer from two goods. Itis drawnon the assxu!1pf101} that
all possible combinations (points) of the two goods onan Indifference curve, the satistaction lew |

remains the same.

The consumer is indifferent as to the combinations lying on
indifference curve is an iso-utility curve. —

an indifference curve. Sm

4.3.3 Indifference Schedule:

An indifference curve is drawn on the basis of an ‘Indifference Schedule’. The Indifferene
Schedule has several combinations of two goods from which he/she derives the same or equd
satisfaction. So, the various combinations in the schedule are equally preferred. The whole discussioy, |

can be made clear by an example.

TABLE -4.1
Indifference Schedule
Combinations Number of Mangoes Number of Oranges
A 1 20
B 2 15
C 3 11
D 4 8
E 5 6
¥ 6 S

In the above schedule, the consumer gets as much total satisfaction from combination? £

(1 mango + 20 oranges) and as well from other combinations i
i mbinations i.e. ta
satisfaction is the same in all these combinations. 5400, et TRES

Since % . . ’
he is indi ﬁ'ere?]ltl tthe c;).mbulatlons of Mangoes and Oranges give the consumer equal satisfactio?
o seléct any one of the combinations. Therefore, this may be called as ‘W¢ g

Ordering’.




lnd"'fcrcllce Curves ———

434 The Indifference Cyrye

With the help of an ‘Ind; i
ference Schedule’ we can draw an Indifference curve to study its

fies.
prop6 Yf‘ C
2
18-
167
Oranges 14
127
| C
8 D
6 |
4 IC
5 -
T 2 3 4 5 6 -
- Apples
Fig. 4.1

In the above diagram, apples are shown on the OX-axis and oranges on the O Y-axis . The
various combinations of apples and oranges are shown by points A, B, C,D, E and F. So, when
we join these points, we get a curve IC, which is known as an ‘Indifference Curve’. Therefore, an
indifference curve represents the preferences of a consumer. The points on the Indifference curve
shows the various combinations of two commodities which give the consumer the equal level of
total (satisfaction from the two) satisfaction. So, an indifference curve may therefore be defined as
the locus of the various combinations of the commodities which yield the same total satisfaction to
the consumer. So, we can say that onan indifference curve, the level of satisfaction at various

points is the same that is curve, A= B=C=D=E=F. Thecurveisalso known as the iso-utility

or curve of equal utility. v
4.3.5 Diminishing Marginal Rate of Substitution

The concept of MRS (Marginal Rate of Substitution) is the basis of “indifference curves’.
The MRS may be defined as the rateat which an individual will exchange successive units of one

commodity for another. The entire process may be clear by the following example.
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Table - 4.2
Diminishing MRS
Combinations Mangoes (X) Apples (Y) MRS of X for Y
A I 20 -
B 2 15 5:1
C 3 11 4:1
D 4 8 3:1
E 5 6 2:1
F 6 5 1:1

(X) and a large:amount of oranges (Y) in comb
apples to get an extra unit of mango (X). But t

From the table it is clear that at the beginning the consumer has a small amount of mangoes
ination ‘A’. So, he is willing to part with some (Y)
his readiness on the part of the consumer to loose

apples decreases as the units of consumption of mangoes increase. MRS is thus, the ratio between
the marginal quantities of two commodities with which the consumer is concerned.

From the above, we notice the following important points.

.

6.

¥

Indifference curve is obtained with the help of an indifference schedule.

Indifference curve is a locus of points of various combinations of two commodities
purchased by the consumer.

All combinations (from A to F) indicate equal total satisfaction. That’s why an indifference
curve is also called as ‘iso-utility curve’.

Anindifference curve always falls from left to right downwards or has a negative slope.

The consumer is ingiiﬂerent towards all these A to F combinations, sinccA=B=C=D=
E =F. He can select any one of the these combinations.

This indicates the consumer’s ‘weak ordering’.

The MRS of X for Y diminishes as the consumer goes on substituting X for Y. | )

4.3.6 Indifference Map

Map’.

A set of indifference curves drawn for different income levels is called as ‘ Indifference

E
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cach curve shows a certain level of satisfaction to the consumer. The diffe

YA
Oranges
IC,
IC,
II((:: ’
0 X
‘ Apples - .
Fig.4.2

From the above diagram, it s clear thatan indifference map of IC, IC,, IC, and IC,, where

rent indifference curves

are always arranged and numbered in ascending order.

Asone moves from IC, toIC, on an Indifference map, the IC labelled higher number (IC,)

is preferred to the IC labelled lower number (IC ).

4.4

curve.

Properties of Indifference Curves

The foregoing discussion helps us to list out the important properties of an Indifference

. The indifference curves slope negatively or slope downwards from left to right. j

They are convex to origin.

No two indifference curves can intersect (cut) each other. Ifthey intersect each other, the
point of intersection shows two levels of satisfaction, which is contrary to the assumption
that a higher level of satisfaction is represented by an indifference curve which lies above

the indifference curve showing lower level of satisfaction.
Every indifference curve to the right represents higher level of satisfaction than that of the
preceding one.

will never touch either of the axis.

An indifference curve

Wi,
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4.5 Budget/Price Line:

So far, we have been considering the different combinations of the two commodities thy
the consumer would like to have with given tastes and preferences. But which particular combination
of the two goods he can actually get depends on two factors. They are:

1. Consumer’s money income

2. Prices of two goods.

[So, the budget line shows all possible combinations of two goods that a consumer ﬂ |

buy, with the given income of the consumer and prices of the two goods.

The concept of budget/price line will be very clearly understood with the following example,
Suppose that a consumer has Rs.150 (income) to buy two goods namely X and Y, whose prices
are Rs.15 and Rs.30 each. With the given information, now, we can draw the budget or price line as

shown in the diagram.

YA

‘Y’ good _|A

5
udget or Price line

. B
W ‘X’ good 10

>X

Fig. 4.3

In the above diagram ‘AB’is the ‘budget or price line’. The slope of the line AB represents '

the ratio of the prices of X and Y in such a manner that 10 of X will be equal to 5 of Y,

' The budget or price line has some interesting aspects to note. When a consumer is given
?vxth some income say (Rs: 150) and the prices of the two commodities are also given (price of X -‘
isRs. 15 and the price of Y is Rs.30), then the following are the opportunities available before hin/

her.

- Theone possibility is that, ifthe consumer s i
) pends his total an o ‘
he gets 10 units of X and none of Y nount of Rs.150 on *X’ alone,

2. Onthe other hand, ' - -
S if he spends the total amount of Rs.150 on ‘Y alone, he gets 5 units

WHDS————Y

1 —

o
i
__._J E
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the budget line gui

deq him ¢ m‘"ﬁ‘w-» ST STCS VT AP 1,y
2 m to haye both it Y o u;vc both(X and Y)the goods, Here,
od X = I.C., ]e carl " LY - [

4. Thebudget line also te]]g g that ¢ move within 'OAB".

4.5.1 Shifts in the Budget b i

The position of the budget |ine de

. . ends : : . o
income increases and the prices of the ty Pends upon size of money income of the consumer. If his

VO CO it ‘e
more of both the commodities. On the o, modities remaining the same, the consumer can buy

T oditics remaining the same thy erhand, if his income decreases, the prices of the two
a0 Consumer now had to reduce his purchase. As aresult of

increase or decrease) changes in the consymer; , ol :
(Tne same is shown in the following diagram erincome there will be shifts in the budget line also.

A
Al

Al

Price of ‘Y’

A’ \
<
0 B B B -> X
‘ Price of ‘X’
Fig. 4.4

1. When the income of the consumer increases, the budget line moves towards right from the
original ABto A’B’.

2. When the income of the consumer decreases, the budget line moves to the left from fhe

original / initial ABto A”B”

4.5.2 Changes in Price Line

' dities. There willbea
o line depends on the prices of both t.he comsmo .
change ?nhfliosl;(e);: t:fe t};lr;c:rlilc?:lireig, when there is a change in the price of either of the two

commodities. _
(1) Suppose that the price of X’ falls, while the price of “Y’ and money income qf the consumer
I\’Jln‘aining the same.
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Price of 'Y’

T B 5 p X
Price of ‘X’
' Fig.4.5 |
In the above diagram 4.5, the initial price line is AB, before change in the price of <X* |

Suppose that the price of *X” has fallen and the price of Y’ remaining the same (money income of
the consumer also remain constant).

ﬁ\s aresult of fall in the price of *X’, now the consumer is able to buy more of X. The ’
ksame is shown by a change in the price line from AB to AB’ and AB”.

(i) Suppose that the price * Y’ falls, while the price of ‘X’ and money income of the consumer

£ e e S e

remaining the same.
v
A"
A’
A
Price of €Y’
good
o B >X
Price of ‘X’ good :
Fig. 4.6
In the above diagram 4.6 the injia] price line is AB that is before a change in price of Y.

ﬁ a result_of fallin the price ‘Y’ now the consumer is able to buy more ofY than before.

€ Same is shown by the change in the price line from AR toA’'Band A”B. t

I ey
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Consumer’s Equilibrium
A consumer is said to be in equiliby
. i ili i
pends @ given money income on(ige 1}1 rium when given his tastes and prices of the twe i
€2 son purchase oftwo goods in such a way as to get the B
ﬁﬂﬂw e e
Now, how the consumer reaches '
] . N e budsg tellep I:,'Omi .of cquilibrium under ordinal utility analysis with
| ce line is explained.

*

4.6.1 Assumptions
The following assumptions ; )
: ; ptions are made for explaining, how a consumer reaches equilibrium

MMm

ﬁ;;;lmer has an *indifference map’ showing hi oreft i i
p’ showing his ‘scale : ses’ that will remain

constant throughout the explanation g his ‘scale of preferences that

There will be no change in the money income of the consumer.

The prices of the two goods will also remain unchanged.

There is no change in the tastes and habits of the consumer.

The consumer is rational and thus maximises his satistaction from the purchases oftwo
—

Goods are Homogeneous and Divisible.

goods.
-

4.6.2 Conditions

The consumer is said to be in equilibrium, when he
income and prices of two goods. Two conditions must b

equilibrium. They are

maximises his satisfaction with given
e satistied for the consumer to bein

1. The budget or price line must be tangent to the indifference curve.
Px

MRSyy P
' Y

2. The equality between the consumer’s MRS and the price —ratio i€,

e
Consumer’s Equilibrium

4.6.3 Ilustration of

Given the indifference map 0
defined as a position from which the cons

budget/price line, the equilibrium is

fthe consumer and the
to move, other things being equal.

umer does not want

e the consumer gets maximum possible satisfaction, where the budget/
the indifference curve and the MRS is equal to the price ratio of the

ned as equilibrium of the consumer.

The point wher
price line is tangent to
two goods will be deft




indifference curves (Map). With the help of these two impo

Jeonamicy

The tollowing dragram explains the above aspects.
YA
A

Y’ goods

N \ ll%

0 M B
‘X’ goods

Fig. 4.7

get/priceline. IC , IC, and IC, asetof

In the above diagram, ‘AB’is the consumer’s bud
rtant tools, we notice the following:

T Ofthe three IC , IC,, IC, indifference curves, our consumer can reach IC,, with the given\

. Hisbudget line ‘AB’ restricts him to IC,.

_ ¢E’ lies on the highest possible indifference curve IC, and yields maximum possible

. At‘E’ thebudget line ‘AB’ is tangent to the [C,.
. Here, there is also equality between the MRSXy and the ratio of prices of X and Y.

. The points other than ‘E’ that is P and Q are not considered as equilibrium points, because

. Moreover, the consumer being rational would like to reach a higher indifference curve

. Itis also clear frcm the diagram that the consumer cannot reach IC,, with his limited

inoome.

satisfaction and therefore the consumer will be in equilibrium at point °E’.

at both the points the ‘AB’ budget line is not tangential, but intersecting the IC
o

(IC,) than a lower indifference curve (IC, ) with the given income and price of two goods.

money incomei.e.,AB.

e
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